N = 0l & At & Ml A

2N RS0
N SeeE 4o, | - 0HE HE

S 2ot d (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

== 20t 48,655,189 45,897,408 2,757,781
= 3,648,242
J| 2,242,457
= 42,764,490

S&E Ma RS - 0HHE 25 48,618,619 45,852,998 2,765,621
= 3,648,242
J| 2,242,457
< 42,727,920

oA EL 10,975,000 6,977,619 3,997,381
= 585,742
J| 1,999,457
= 8,389,801

ANEZ03¥E T 696,050 681,450 14,600

202 44l 2,300 2,700 A 400

01 = LH 4 1l 2,300 2,700 A 400
OAEZ30H & Mol=7 2= 2,300

403 X SHHSA=0l& 693,750 678,750 15,000

01 HXSHMA=LE L 693,750 678,750 15,000
oHlgsteA s 438,750
OAEZ3H S3HH 165,000
O1F MHH JIBtAIE XI& 50,000
OANEZJ0 Ao o 40,000

ooy o5t 177,000 0 177,000

403 XSS X201 & 177,000 0 177,000

01 X SHH K22 = 177,000 0 177,000
ORlsttE A & olZet == 117,000
OHAAE ERE MEZSS 60,000

HAF =2 HH Mo 1,014,700 1,481,300 A 466,600

202 044l 2,300 2,700 A 400

01 = LH o4 1l 2,300 2,700 A 400
O HE ML 2 2,300

307 21201 A 800,000 800,000 0

02 B AAFE X 800,000 800,000 0
OMALF ==t i=s ZEXE 800,000

403 HXSHHSA=0l& 212,400 294,600 A 82,200

01 X SHHMA2E X 212,400 294,600 A 82,200
OXNESss HMES 4 212,400

DAHTITHA OFF A A 384,000 140,000 244,000

308 XXM SOl A 384,000 0 384,000

01 AXHHBSEES 384,000 0 384,000




2N RS0
N SeeE 4o, | - 0HE HE

(i}

SHol: RO A DIBHE Y CEEEED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OIDHXITHA OFF A A 384,000
D=t MA - RS 1,002,200 1,567,700 A 565,500
202 o4dl 2,300 2,700 A 400
01 = LH o4 1l 2,300 2,700 A 400
Ont==5t3 HRF=A 2,300
403 UHXISHHE X201 H 999,900 1,565,000 A 565,100
01 X SHHX2E= 999,900 1,565,000 A 565,100
Ot 3¥H M 320,000
O3t Miss XA 165,400
OYENL& Itz 4 514,500
ola DIt 279,800 43,200 236,600
202 Odl 2,300 2,700 A 400
01 =2 LHA YI 2,300 2,700 A 400
OQAIIEEY PRET 2,300
308 XXM S0 A 40,500 40,500 0
01 IXNHHBNEES 40,500 40,500 0
©Ql4& &l 23 TH BH 40,500
403 XIS E X201 & 237,000 0 237,000
01 X SHHX2E = 237,000 0 237,000
OLNBE ol MAALE XA 210,000
OQla 2 (HASA) M K& 27,000
S&RZ¥SEN D 85,500 172,500 A 87,000
403 XSS A0l & 85,500 172,500 A 87,000
01 XS M A=2EE 85,500 172,500 A 87,000
O=2sA0EY 24 72,000
OAEAE 3¥HA WM 13,500
ANE20 st N (AZduSds)(=2) 897,131 960,759 A 63,628
| 690, 101
< 207,030
403 XSS A=0l& 897,131 960,759 A 63,628
| 690, 101
< 207,030
01 XM A2E X 897,131 960,759 A 63,628
OANE A0S st 897, 131
J| 690, 101
< 207,030
ANE20 03 X2 (2= 8ot MEAIE) (=21) 131,300 336,700 A 205,400
| 101,000
< 30,300
403 XIS E X201 H 131,300 336,700 A 205,400




2N RS0

I S MAH s - 0HAHE 23
S5l WOINRIIBEY (29 a8)
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Pl 101,000
& 30,300
01 XIS A=Z2E X 131,300 336,700 A 205,400
©1=F "It THEHAIE 131,300
J| 101,000
= 30,300
SN Z0F ICTE=EE XN (AUEDZ AIEEZ)(=21) 20,413 15,510 4,903
J| 17,011
=} 3,402
403 XX SRS K 20| & 20,413 15,510 4,903
J| 17,011
=} 3,402
01 AXESHIEE X 20,413 15,510 4,903
OADIETZ ANEEZ 20,413
J| 17,011
& 3,402
2RO diUXOIZEEEsH(HMUXNEBZAIEZXR) (2 741,965 515,120 226,845
)
= 570,742
= 171,223
403 XX SRS K20 & 741,965 515,120 226,845
= 570,742
= 171,223
01 AXESHH=E2E X 41,965 515,120 226,845
ONUHXIEBZAIAEXA 741,965
= 570,742
& 171,223
SAHE0F HHXIOI2ESSsH(A T X AlA X)) ( 18,000 44,388 N 26,388
=21)
= 15,000
& 3,000
403 XX SHHS K20 & 18,000 44 388 N\ 26,388
= 15,000
& 3,000
01 MXHHE2E =X 18,000 44,388 N 26,388
OXMTHAMN HXIAIE X& 18,000
= 15,000
& 3,000
AT SSOHEMA(HAINZHEM) (2R EXH) 3,987,000 0 3,987,000
307 212t0| & 3,987,000 0 3,987,000
02 QIZHBAAIE E X 3,987,000 0 3,987,000
OMAI A oHA HI 3,987,000
SLLEHHRES(MIAMESAIE)(=2D) 230,490 331,200 A 100,710
J| 192,075
& 38,415




d

A RS0
M sitE da, RS - 0HHE ZE
Chelr oA HIIBtES o
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
403 XXM S X201 230,490 331,200 A 100,710
| 192,075
< 38,415
01 XXM A2E = 230,490 331,200 A 100,710
OK X N2 A& 230,490
| 192,075
< 38,415
FTAAMLSE HI & =8 & 22/ X (=21) 17,000 20,000 23,000
| 17,000
202 oddl 5,000 5,000 0
| 5,000
04 S H &t bl 5,000 5,000 0
OLNZE WY M BIX 0O+ 5,000
J| 5,000
307 Qiz2tol & 12,000 15,000 A 3,000
| 12,000
02 It M AIHE L 12,000 15,000 A3,000
OLal A FSKA AHS 22l ] 12,000
| 12,000
DAMBMACT JlBES(21) 354,900 0 354,900
| 338,000
< 16,900
403 XX SH S X =0 & 354,900 0 354,900
| 338,000
S 16,900
01 XXM A2E = 354,900 0 354,900
O M MACT Dtz H 354,900
J| 338,000
= 16,900
== AGER® &aH(=1) 46,800 20,800 26,000
| 36,000
< 10,800
403 MHXISHHE X201 E 46,800 20,800 26,000
| 36,000
< 10,800
01 XM A=2EE 46,800 20,800 26,000
Qit= ADEH =4t 46,800
| 36,000
< 10,800
DMZ Eco-Green Bt B RF(IZIAFHXH) 100,000 0 100,000
308 XX EHH SOl A 100,000 0 100,000
01 AXSHBAELS 100,000 0 100,000
ODMZ Eco-Green Ut==4t GIE A= 100,000
EEEAS(HA, dE)MAAILSUE X2 (Z1) 235,443 108,300 127,143




2N RERAND
Hu: SAS MM, RS- 0IEY 2

(i}

Chelr oA HIIBtES (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Il 181,110
< 54,333
403 XAXISHM S K201 A 235,443 108,300 127,143
| 181,110
< 54,333
01 XXM A2E = 235,443 108,300 127,143
OHA, =42 MUIAIE EU3 K& 235,443
J| 181,110
< 54,333
SESHS(QAMAALSEUS XA (=22) 555,308 461,760 93,548
| 427,160
< 128,148
403 XIS S X201 & 555,308 461,760 93,548
| 427,160
< 128,148
01 X SHMA2E X 555,308 461,760 93,548
OQla THHHAIE S CHat X & 555,308
| 427,160
< 128,148
SHSHEEHs & sd=E RSAIME 6,272,928 6,620,900 A 347,972
= 2,349,500
| 243,000
< 3,680,428
ZFEE F4 547,465 1,273,200 AT25,735
202 o4l 3,825 4,500 AB75
01 = LH Yl 3,825 4,500 AB75
OZZEZE 43 gRFA 3,825
307 glz2tol & 50,000 200,000 A 150,000
04 DI2LHALAISE E X 50,000 200,000 A 150,000
O33J|1& 22 FE A0 3= £ &= &Y 50,000
308 XXIEHSO0IA 381,400 1,007,500 A 626,100
01 AXNHHEBANEES 381,400 847,500 A 466,100
OZZEE 43t 14,400
ONMAS HAANE ZEEE X 351,000
OAn2 ZZFEE XNHE X& 16,000
403 Ut S S X201 & 112,240 61,200 51,040
01 XXM A=2E = 112,240 61,200 51,040
OZZEEE 43t 48,240
OAAR2 Z2ZFEE XNUHE XN& 64,000
ANocte T2 25 XJ(=212) 100,000 0 100,000
= 100,000
308 XXX SO0l A 100,000 0 100,000
= 100,000




2AM: fS30 D
M SN2 MM, RS- 0HAHEY 23
Sl SAEQENE U SN2 REIINM CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
01 XHNBMNEXTZ 100,000 0 100,000
OXNAH? ZEEAH 25 K& 100,000
= 100,000
N ZEEZ 2 (9™ - ZE222)(=21D) 150,000 0 150,000
= 150,000
308 XX SHAMSOIA 150,000 0 150,000
= 150,000
01 IXHHIMNEXZ 150,000 0 150,000
OXdcte TS EH =E X2 (etd - BE 2L
) 150,000
= 150,000
2224 JEMAYHA 2= XN (2D) 27,500 0 27,500
= 27,500
308 AXISHAMSOIHA 27,500 0 27,500
= 27,500
01 HXHHNBIMNEXS 27,500 0 27,500
O3s324 JIEMANA 25 XA 27,500
= 27,500
SSY st 645,000 0 645,000
307 212t0| & 170,000 0 170,000
04 QIZHSHALAIE B2 X 170,000 0 170,000
OREANAY S 170,000
308 AXISHXSO0IH 475,000 0 475,000
01 AXHNBMNEXTZ 315,000 0 315,000
o222l oIAEY K& 21,000
O=s&E A &bl XI& 294,000
11 2I|2SHUSHEAERAE A S| 160,000 0 160,000
o&ct?l oHAHE X 160,000
SHENMSRELNEHSH 160,670 251,000 A 90,330
201 et A | 9,140 9,200 A 60
01 AtR 22l ] 8,140 8,200 A B0
OXZEHEH A} 2¢ 700
OXIBHEH IMAXI A 29| 7,440
02 324l 1,000 1,000 0
OXSHE IMAXMI 2A 2G| 1,000
202 044 1,530 1,800 N270
01 2LHHI 1,530 1,800 N 270
OXEHEH HRFA 1,530
308 AXISHXSO0IH 150,000 240,000 A 90,000
11 BI|2SHUSHEAAAE A H| 150,000 240,000 A 90,000




SN REAND
U S48 MM, RS 0HE 23
Oel SABRERME Y S48 RERTNM (el & a)
= - = 4 &
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OXBHEH 2% 150,000
MXRSIIBEY 818,300 636,250 182,050
202 01t 2,550 3,000 A 450
01 ZLH Ot 2,550 3,000 £ 450
OMXRE JIEEY P2FX 2,550
403 XX A S X201 & 815,750 633,250 182,500
01 HXISH=2Z 815,750 633,250 182,500
OMXIHEAL X2 532,500
OAPC Al& 126,000
oONesRsEXY X 52,500
OMIREAL 2ot 32,750
osM2TE X 72,000
drRE 2o 510,000 780,000 A270,000
307 @l2tol & 300,000 300,000 0
02 AAAMAAR T 300,000 300,000 0
OMXRE HLEs A 300,000
308 XiXI 43 SO & 210,000 300,000 A90,000
01 HXEBHAMEZES 210,000 300,000 A90,000
OSEEMS BEY X 210,000
sSag 2y 243 391,330 667,450 A 276,120
201 Lot | 10,500 1,000 9,500
01 At 22l 10,500 1,000 9,500
oY 243 g2EAN 500
OF OtE St BHE £X 10,000
202 01t 2,300 2,700 A 400
01 2LH o] 2,300 2,700 £ 400
O2Y M3 YLEX 2,300
308 XXl Al S0l & 23,630 33,750 £ 10,120
01 HXSHBL2ES 23,630 33,750 A10,120
oZY LEN K& 23,630
403 XX SR S X201 A 354,900 630,000 A275,100
01 HXSH22Z 354,900 630,000 A275,100
O s42 AFTIUH 25 354,900
ZsdgHXE(2D) 1,487,663 1,228,800 258,863
= 1,147,000
< 340,663
308 XiXI X SOI & 1,487,663 1,228,800 258,863
= 1,147,000
< 340,663




SN RS
i sds M, RS - 09HE 23
S SAERSEHS Y SN2 RSTINM CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 HIXNHHNBHNEES 1,487,663 1,228,800 258,863
O3S &gl 1,487,663
= 1,147,000
< 340,663
ANesstE 25 =i 20,000 70,000 A 50,000
307 glz2+ol & 20,000 20,000 0
02 HAHFHAANGFEX 20,000 20,000 0
o=gd=sIt &3t 20,000
sSUSHAE XN (HE) (=) 126,000 400,000 A 274,000
J| 63,000
< 63,000
307 21201 A 126,000 400,000 A 274,000
J| 63,000
= 63,000
02 IS AHE L 126,000 400,000 A 274,000
OsNSOHHE XA 126,000
J| 63,000
< 63,000
SMNENMXSSHE (APC)XE (=1) 216,000 0 216,000
J| 180,000
< 36,000
403 X SHHSA=0l& 216,000 0 216,000
Jl| 180,000
= 36,000
01 AXSHMA2E X 216,000 0 216,000
O=stt2 bt X 2 S HE (APC) X & 216,000
J| 180,000
< 36,000
gXE 3sdI3H =4 N (21) 1,073,000 1,218,000 A 145,000
= 925,000
< 148,000
403 MtXISHE X201 & 1,073,000 1,218,000 A 145,000
= 925,000
< 148,000
01 X SHHAN2E= 1,073,000 1,218,000 A145,000
ogXN=E EsZEAM g4 N& 1,073,000
= 925,000
S 148,000
sASMHE=EL 701,660 989,640 A 287,980
= 188,000
< 513,660
NEE M2 ZF3HE [ 71,400 168,540 A97,140
308 XtXIEHHSOIA 71,400 78,540 AT,140
01 HXNHHBHELS 71,400 78,540 AT,140
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

= 75,000

308 XXM SO A 75,000 0 75,000
= 75,000

01 HIXNHHBNEES 75,000 0 75,000
OFYE Y 3SH SAxH 75,000
= 75,000

Stnga 2sdtE 22 29,991,781 30,019,839 A 28,058
= 525,000
< 29,466,781

S&2 stugal Sl 22 29,160,981 28,465,539 695,442

202 oddl 3,830 4,500 AB70

01 = LH o4 1l 3,830 4,500 AB70
oz ad stuga FRFA 3,830

308 MtXIEHSOIH 29,157,151 28,401,039 756,112

01 HXNHHBHELS 29,157,151 28,401,039 756,112
OFEAE DI A N 26,599,416
OXEE 2zbt2 suga N 2,557,735

ANXH Mg ns(=31) 300,000 240,000 60,000
= 150,000
< 150,000

307 21201 A 300,000 240,000 60,000
= 150,000
< 150,000

02 YAFAAFEX 300,000 240,000 60,000
OX XA A& = 300,000
= 150,000
S 150,000

sAME ALE AHI(21) 30,000 30,000 0
= 15,000
< 15,000

307 21201 A 30,000 30,000 0
= 15,000
< 15,000

02 IZHEHAHE L 30,000 30,000 0
OsAE ANE AHl 30,000
= 15,000
< 15,000

ZSESS WA WULA XA AIEA (=) 468,000 469,300 1,300
= 360,000
< 108,000

308 XXM SO A 468,000 469,300 A 1,300
= 360,000
< 108,000

01 IXNSHHBNEES 468,000 469,300 A 1,300
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